

Nombre: Fecha: Curso:

Operaciones combinadas



Resuelve las siguientes operaciones combinadas sin paréntesis:

$$3 \times 4 + 5 - 2 =$$

$$2 + 6 \times 3 - 9 =$$

$$56 - 35 + 3 \times 5 =$$

$$2 \times 3 + 7 \times 3 =$$

$$4 \times 5 + 6 - 15 =$$

$$9 \times 3 + 6 \times 4 =$$

$$7 \times 9 + 5 - 35 =$$

$$6 + 8 \times 3 - 7 =$$

$$14 - 7 + 3 \times 9 =$$



$$12 \times 3 - 5 + 3 =$$

$$6 + 3 \times 5 + 8 - 9 =$$

$$4 \times 5 + 6 \times 3 =$$

$$6 \times 7 - 3 \times 7 =$$

$$8 \times 6 - 40 + 35 =$$

edufichas.com